Name

Special Right Triangles

= Remember -
1. In a 45°-45°-90° right Example: Find the missing lengths.
. |45° V2x “triangle, the hypotenuse /5
J \ ‘is V2 times as long as x X 2x=8
L each le | ‘ =2
X g 45° *=T7
. In a 30°-60°-90° right triangle, 8 _.8 2
6052 the hypotenuse is twice as e e
% S long as the short leg. The _ 82
30 . ; >
long legis V3 times as long
’/5", as the short leg. = 4v2
~ Use the 30°-60°-90° and the 45°~45°-90° triangle relationships to solve for the
missing sides. Follow your answers in alphabetical order through the maze.
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Neme * ___ The Pythagorea;n Theorem

— Remember

" In a right triangle, the sum of the - Example: )  9? =62+
squares of the legs is equal to Find the length of the 81 = 36+ b°
the square of the hypotenuse: ‘ missing side. . 45 = b2

2. 2 2 ) T =
S C=a +b _ | . : V35 = b
o a! : c ._ 6 - V9. y5=b
; - C a¥B=b
Solve for the missing side. Use the answer ( ﬂp; A 345 trianale A
. ; . - ! riang
pode to find the special name fqr threg | has a leg-to-leg-to-
integers whose lengths form a right triangle. hypotenuse ratio of
. 3:4:5. If you can
A. 4 ‘ E. ' spot multiples of
' these numbers, you
9 , - can solve those
5 o problems-easily.
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